ELCE 2260 HOMEWORK #5 prob 3c solution U
F11

Ex: Find the inverse Laplace transform for the following expression:

—352 +995-1200
s3 +11s2 +100s +1100

F(s)=

soL': We First Sactor the Aepominator. Hsinj
a compater (eg. /"lqu[eré®)/ we Facl
the roots oF the derominator are
s=—Il, jI0, ard ~j/p.

So [3)= —23° 4993 — 200
(3+11)Cs +10)03~j 10)

To avoid Com;/ek numbers we wuse e
gunadratic (St/0)(s-;p) = s +/00 0n
the Aenomi rnato /

F(s) = — 3s3+ 995 —[200

(3+411) (£ +100)
)= A + B3 +C

Fs) = A(S®+l00) +(B,s‘+c')(s+/l>
GH) (324 00)

So we must solve 4o make +he numertlor
g aal( Ehe o/\/;/&i/lq[ numerator.

A(s%+ o) +(B s+¢)Cort1) = ~ 35+ 775 ~ 220
We bhave A+ /aﬁ)(-_- - 354725 —(=00 /

=~
A+ 221 = - 383~ /08¢ (200
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A=—12




Now use coavenient values of 3 +o obtain
: Qﬁ’/{s for R and C.

A(s¥ 4100 ) + (Rs+)(241) | = —3S+95 120

12 $=0
" S=0
[06A + I[C = -1200 = ¢ =0
2
A(s*+100) +(Bs+c')('$+fll)l = ~3s +198 - 1200
~12 o STy

3=
u (]
ol A + (B+ ¢)-12 = - 3479~ 1200

~l212 + |28 = — lipy

ZR = (08

8 = 9

EG)= =12+ g3 <i-q..3

Bt/ 3%+ 106 s%+ 0%
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;i—'f[:(s)g = Ellef“’b 4+ 9 cos l&t*juq()-e)




